Calculation Policy

Year 3 and Year L

www teaguesbridgeprimary.org



http://www.google.co.uk/url?sa=i&rct=j&q=&esrc=s&frm=1&source=images&cd=&cad=rja&uact=8&ved=0CAcQjRxqFQoTCKqpkcf368YCFU0o2wodZ4wCTw&url=http://iedc.net/lessons/c02-08-%E6%95%B8%E5%AD%97%E5%8F%8A%E5%85%B6%E4%BB%96numbers-misc/&ei=AxSuVeqbJs3Q7AbnmIr4BA&bvm=bv.98197061,d.d24&psig=AFQjCNFESJsCKeUwBB2snscTts8msEJOmQ&ust=1437557637007265

CALULATION POLICY 2023

|

The fo[low'mg pages show our school’s progression in calculation (addition, subtraction, multLp[LcatLon and division) and how
this works in line with the National Curriculum. The consistent use of the concrete, chtorLal and abstract approach
throughout our school helps children develop mastery across all the operations in an efficient and reliable way. This policy
shows how these methods develop children’s confidence in their understanding of both written and mental methods.
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Mathematics Intent

At Teagues Bridge, our intention is ambitious. We aim to create strong mathematicians who have the necessary skills and understanding to tackle mathematical
challenges in varying contexts, including the ability to reason and apply their knowledge to solving problems. This should mean that children are able to apply their

knowledge to everyday life and can aspire to achieve anything that they want. We want our pupils to have strong mental manipulation and to use written strategies
when appropriate.

Our phllosophg Jor mathematics is replacmg an idea that maths is lots of rules and numbers with a stud.g of patterns and connected ideas. In earlg years theg will

build a foundation of number u.nderstandmg and representation through maLnLg concrete and chtorLal representations. The approach will be supported bg in depth
questioning, throughout the school to develop mastery.

Use of CPA is mcoutmged to ensure the curriculum is accessible for all children and that theg all have the opportunity and are able to demonstrate their
understanding in a variety of ways. This will enable them to have a good understanding of maths and not just the ability to follow a procedure. We want to empower
them to want fo ask questions and want to find the answers.

Aims: The national curriculum For mathematics aims to ensure that all pupLLs:

® become fluent in the fundamentals of mathematics, including through varied and frequent practice with increasingly complex problems over time, so that
puplls deveLop conceptual understandmg and the abllltg to recall and applg knowledge mpldlg and accuvmtelg

e reason mathematically by following a line of enquiry, conjecturing relationships and generalisations, and developing an argument, justification or proof using
mathematical language

e can solve problems by applying their mathematics to a variety of routine and nonroutine problems with increasing sophistication, including breaking down
problems into a series of slmpler steps and persevering in seek'mg solutions.
Mathematics is an interconnected subject in which pu,plls need to be able to move ﬁuently between representations of mathematical ideas. The programmes of stu.dg are,

by necessity, organised into apparently distinct domains, but pupils should make rich connections across mathematical ideas to develop ﬂu.encg, mathematical reasoning
and competence in solving increasingly sophisticated problems. Theg should also apply their mathematical knowledge to science and other subjects.

The expectation is that the majority of pupils will move through the programmes of study at broadly the same pace. However, decisions about when to progress should
always be based on the security of pu.pL|.s' understanding and their readiness to progress to the next stage. PupLLs who grasp concepts rapidly should be challenged through
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being of fered rich and sophisticated problems before any acceleration through new content. Those who are not sufficiently fluent with earlier material should
consolidate their understandmg, including throu.gh additional practice, before moving on.

Our lessons are structured to enable all children to achieve and have an opportunity to make progress with their learning. Each lesson begins with a CLIC maths activity where they
have chance to develop their mental strategies, secure number facts and number manipulation. They then develop their mathematical fluency with the teacher modelling and
explaining before they have a go themselves. Children then have a reasoning/ problem solving activity which is a variation of the previous work to demonstrate they have mastered the
objective. Children who are ready can then challenge themselves with a task that requires applying the learning to a greater depth. We have our own programme of study which is
supported with schemes like White Rose to support.
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National

Year W

Known facts

Essential Knowledge

Curriculum

Addition

Subtraction

Add and subtract

numbers with up
to 3 digits, using
Jormal written
methods of
columnar addition
and subtraction.

Derive and use
addition and
subtraction facts to
100, eg. 33 + 67
=100.

Known Facts Essential Know[edge

Add single digit
bridging thrrough

boundaries.

Partion second number

to add.

Use near doubles to
add.

Partion and
recombine.

Add multiples 10, 100.

Pairs of 100

(comp[Lments of 100).
Add near multiples of

10 and 100 by

rounding and

adjusting

Add and subtract

numbers with up to
L digits using the
Jormal written
method of
columnar addition
and subtraction
where appropriate.
Solve addition and
subtraction two-step
problems in
contexts, deciding
which operations
and methods to use

and why.

Derive and. use
addition and
subtraction facts
For multiples of 10)
to 1000, e.g.
330+670=1000.

Fluency of 2 digit+ 2

digit.

Partion second number
to add.

Use near doubles to add.
Add. near multiples.

Add multiples of 10, 100
and 1000.

Decimal pairs of 10 and
l.
Adjust both numbers
before adding.

Partion and recombine.

Add and subtract
numbers with up
to 3 digits, using
Formal written

methods of

columnar addition

Derive and use
addition and
subtraction facts to
100, e.g.
33+67=100

Subtract single digit
bridging through

boundaries.

Partion second number

to subtract.
Dif ferences between.

Add and subtract
numbers with up to
L digits using the
Jormal written

method of

columnar addition

Derive and use
addition and

subtraction facts (for

multiples of 10), to
1000, e.g.
330+670=1000

Fluency of 2-digit — 2-
digit.

Partion second number
to subtract.

Dif ference between.
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and subtraction.
Least significant
digit is always
dealt with first to
establish if the
exchange is

needed.

Partion and
recombine.

Subtract multiples of
10, 100.

Pairs of 100

(complements of 100).

Subtract near
multiples of 10 and
100 by rounding and
adjusting.

and subtraction
where appropriate.
Solve addition and
subtraction two-step
problems in
contexts, deciding
which operations
and methods to use

and why.

Subtract multiples of 10,
|00 and 1000.

Decimal subtraction
From 10 or I.

Subtract near multiples
by rounding and
adjusting.

Werite and
calculate
mathematical
statements for
multiplication and
division using the
multiplication
tables that they
know, including 2
digit numbers
times | digit
numbers
progressing to
Formal written
methods.

Recall and use x and
= facts for the 3,
L and 8x tables.

Review 2x, bx and 10x,

Lx, 8x, 3x, 6x.
Double 2-digit

numbers.

Multiply 2 digit
and 3 digit
numbers by a |
digit number using
Jormal written
layout. Solve
problems involving
multiplying and
adding.

Recall and use x and

= for x tables up to
12 x 12.

bx and 8x tables.

3x, 6x and 12x tables.
3x and Yx tables.

IOx bigger, 100x bigger-
Double larger numbers
and decimals.

lIx and /x tables
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White and
calculate
mathematical
statements for
multiplication and
division using the
multiplication
tables that they
know, including 2
digit numbers
times | digit
numbers
progressing to
formal written
methods.

Recall and use x and

+ facts for the 3,
L and 8x tables.

Review division facts
(2x, 5x and. 10x
tables) .

Division facts (4x
table).

Division facts (8x
table).

Test of divisibility ~
KSI -~ 2,5 and 10.
Halve 2-digit
numbers.

Division facts (3x
table) .

Division facts (6x
table)

Test of divisibility ~
Any number with a
digit sum of a
multiple of 3, will
divide equally by 3.

Practise to become
Fluent in the
Jormal written
method of short
division with exact
answers.

Recall x and + for x
tables up to 12 x 12

Division facts (4x and
8x tables).

Division facts (3x, 6x
and 12x tables).

Division facts (3x and
Ax tables).

Test of divisibility ~ Any
number with a digit sum
of a multiple of 3, will
divide equally by 3.

KSI 2, 5, 10.

|Ox smaller:

Halve larger numbers
and decimals.

Division facts (llx and
7x tables).

Test of divisibility ~ Any
number with a digit sum
of a multiple of 3 and
is even will divide

equally by 6.
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Subtraction

Multiplication

Division

Year 3

Subject specific:

put together, add, addition, altogether, double, total, more than, equals, plus,
make, altogether, commutative, inverse, sum, partition, double, near double, one
moew, two more.. one hundred more. .., hoe many more to make. 2 How many
more is. .2 how much more is..”score

Instructional vocabulary:

explain your method explain how you got your answer give an example of. ..
show how you. .. show your working. ... Estimate

Year

Sub ject specific:

put together, add, altogether, double, total, more than, equals, plus, make,
commutative, inverse, sum, partition, near double, score, double, near double, how
many more to make..? increase

Instructional vocabulary:

calculate, work out, solve investigate, question answer check

Subject specific:

subtract, subtraction, takeaway, distance between, difference between, less
than, minus, leave, fewer, left over, how many fewer is...? how much less
is..7 difference between.. ? half, halve, equals, tens boundary, partition,
rearrange, inverse, hundreds boundary, exchange, carried digits
Instructional vocabulary:

explain your method explain how you got your answer give an example of. ..
show how you. .. show your working

Sub ject specific:

subtract, subtraction, takeaway, distance between, difference between, less than,
minus, leave, fewer, left over, equals, tens boundary, partition, rearrange, inverse,
hundreds boundary, exchange, carried digits, decrease

Instructional vocabulary:

calculate, work out, solve investigate, question answer check

Subject specific:

double, equal groups, array, lots of, odd, even, commutative, repeated addition,
inverse, groups of, multiply, multiplied by, multiple of, twice, row, column,
repeated addition, array row, column double, halve share, share equally, one
each, two each tables, factor, related fact, scale, product

Instructional vocabulary:

carry on, continue repeat what comes next? predtct describe the pattern,
describe the rule

Jind, find all, find different, investigate

choose, decide, collect

Sub ject specific:

double, equal groups, array, lots of, odd, even, commutative, repeated addition,
inverse, groups of, multiply, multiplied by, multiple of, twice, row, column, tables,
Factor, related fact, scale, product, repeated addition, array row, column double,
halve, factor pair, known fact, derived fact

Instructional vocabulary:

carry on, continue, repeat what comes next? precht describe the pattern, describe the
rule

pattern, puzzle, calculate, calculation, mental calculation, method, jotting, answer
right, correct, wrong what could we try next? how did you work it out? number
sentence sign, operation, sgmbol, equation

Subject specific:

Sub ject specific:
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Instructional vocabulary:

share, share equally, equal groups, array, pairs, divide, divided by, divided
into, left over, odd, even, repeated addition, group in pairs, threes, ten equal

groups, remainder, dividend, divisor

calculate, work out, solve, investigate question, answer, check

share, share equally, one each, two each, three each, equal groups, group in pairs,
threes, ten equal groups, array, pairs, divide, divided by, divided into, left over, odd,
even, repeated addition, remainder, dividend, divisor

Instructional vocabulary:

calculate, work out, solve, investigate, question, answer, check

KEYSTACE 2

Addition and Subtraction

In Year 3 especiallg, the column methods are built up
gradually. Children will develop their understanding of
how each stage of the calculation, including any
exchanges, relates to place value. The example
calculations chosen to introduce the stages of each
method may often be more suited to a mental method.
However, the examples and the progression of the steps
have been chosen to help children develop their fluency in
the process, alongsLde a deep u.nderstandmg of the
concepts and the numbers involved, so that they can
apply these skills accurately and efficiently to later
calculations. The class should be encouraged to compare
mental and written methods for specific calculations,
and children should be encouraged at every stage to

make choices about which methods to applg.

value equipment to support their understandmg, but not as a substitute for thmkmg.

Multiplication and Division
Children build a solid 9round‘m9 in times-tables,

understand.mg the mu.Lt'LpLLcatLon and division facts in
tandem. As such, they should be as confident knowing that
35 divided by 7 is 5 as knowing that 5 times / is 35.

Children develop key skills to support multiplication methods:
unLthlng, commutativitg, and how to use part'tt'tonmg

e Jc_fectwelg .

Unitising allows children to use known facts to multiply and
divide multiples of 10 and 100 efficiently. Commutativity
gives children flexibility in applying known facts to
calculations and problem solving. An understanding of
partitioning allows children to extend their skills to multiplying
and dividing 2- and 3-digit numbers by a single digit.

In Years 3 and L, children develop the basis of written methods by building their skills alongside a deep understanding of place value. Theg should use

known addition/subtraction and mu.ltLpchatLon/ division facts to calculate efﬁctmt[g and accu.mte[g, rather than relg‘mg on counting. Children use place

Fractions
Children develop the keg concept of equ.Lvalmt fractions,

and link this with multiplying and dividing the
numerators and denominators, as well as exploring the
visual concept through fractions of shapes. Children
learn how to find a fraction of an amount and develop
this with the aid of a bar model and other
representations alongside.

in Year 3, children deveLop an understandmg of how to
add and subtract fractions with the same denominator
and find complements to the whole. This is developed
alongside an understanding of fractions as numbers,
including fractions greater than |. In Year L, children
begin to work with fractions greater than .
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Children deveLop column methods to support multiplications in Decimals are introduced, as tenths in Year 3 and then

In Year L, the steps are shown without such fine detail, these cases. as hundredths in Year L. Children deveLop an
althou.gh children should continue to build their For successful division, children will need to make choices u.nd.ersta.nd.mg of decimals in terms of the relationship
understanding with a secure basis in place value. In about how to partition. For example, to divide 423 bg 3, itis | with fractions, with d.'Lv'Ld.'mg bg O and 100, and also
subtraction, children will need to develop their effective to partition 423 into 300, 120 and 3, as these can | with place value.

understanding of exchange as they may need to exchange | be divided by 3 using known facts.

across one or two columns. Children will also need to understand the concept of

By the end of Year L, children should have developed remainder, in terms of a given calculation and in terms of

Fluency in column methods alongside a deep the context of the problem.

understanding, which will allow them to progress

conﬁdenﬂg in upper Keg Stage 2.
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pla.ce value to

1,000

numbers.

1 R
GIGGIGIGIGGG

e

1
LRt gl

Use a place value 9rld to support the structure

of numbers to |,000.

Place value counters are used alongside other
equipment. Children should understand how

YEAR 3
Addition
Under‘standmg Understand the cardinality of 100, and the Unitise 100 and count in steps of 100. Represent steps of 100 on a number line
100s link with 10 tens. %i J ‘%\u @ ‘g\ 1%:\ %; and a number track and count up to
Use cubes to place into groups of 10 tens. =3’ =S » B |EHER) [,O0O and back to O.
PNV STS O I0
ofebdellfogol-d- b o | w0 | 200|300 | [ J|[ )60 | 70
DV SFOGE 9 30
POVOBPOBP O 40 oo ) [L200 ]
POV SSS 9 50
$ 00980V 0 60 300 | 400 D e [:] .
9999 SSETSO 70
PPV S9BS 9 80
IV POSS 9 9
PPV POEOSE VI00
Und,ersta,nd,i,ng Unitise 100s, 10s and Is to build 3-digit Use equipment to represent numbers to [,000. | Represent the parts of numbers to 1,000

using a. part-whole model.

25)
@9 (0) ()

215=200+10+5

Recognise numbers to 1,000 represented on
a number line, including those between
intervals.
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each counter represents a. different unitised
amount.
Adding 100s Use known facts and unitising to add multiples | Use known facts and unitising to add Use known facts and unitising to add
of 100. multiples of 100. multiples of 100.
Represent the addition on a number line.
. Use a part-whole model to support
unitising.
s e b
c — — & — — = — — 3
3+2=5
3 hundreds + 2 hundreds = 5 hundreds
300 + 200 = 500 I+ =7
3 hundreds + & hundreds = / hundreds /—m
300 + +00 = /00 RN R W N W N N
| N P R S B S —
I35 140 142
I3+2=5
300 + 200 = 500
3-digit number | Use number bonds to add the Is. Use number bonds to add Is. Understand the link with counting on
+Is, no
exchange or 245 + L
bridging. H T 0
00000 - ]
| | | | | |
E%EE Use number ) : ' ! ' '
__tho [c s
soon
k5+4=q
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yJ

Now there are 4 + L ones in total.

L+l - 8

2+ 4 = 218

245 + 4+ = 249

Use number bonds to add the Is and
understand that this is more efficient
and less prone to error.

245 + =7

| will add the Is.
5+L =49
So, 245 + L = 2449

3-d.lglt number | Understand that when the Is sum to 1O or Exchange IO ones for | te where needed. Understand how to bridge by partioning to
+ Is with more, this requires an exchange of 10 ones for | Use a place value grid to support the the Is to make the next 10.
exchange | ten. understanding.
Children should explore this using unitised
ob jects or physical apparatus.
H T @)
E E E soooo |1 ——
H T Q m
I B e ey e e e S —
oo000 135 140 142
s
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H i o)
aona0
E L
H i O
5oy o8
00
Eaa
a0
a8

35+ /=7
135 +5+ 2 =2

Ensure that children understand how to

add Is bridging a 100.

/198 + 5 =7
198 + 2 + 3 = 203
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a0

135 + 7 = 142

3-digit number
+ 10s, no

exchange

Calculate mentally by forming the number

bond for the [Os.

L
23k + 50

There are 3 tens and 5 tens altogether.
3+5=8

+ e

Calculate mentally by forming the number
bond for the [Os.
35/ + 30 =7

il
I
e | —
Ll
[SSssssssss )

-1

Ll

5 tens + 3 tens = 8 tens
35/ + 30 = 38/

Calculate mentally by forming the number

bond for the 10s.
/53 + O
[ know that 5 + &+ = 9

So, 50 + 40 = 90
/53 + 4O = 793
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In total there are 8 tens.

23k + 50 = 28k

Understand the exchange of 10 tens for |
hundred.

m)

Add by exchanging |0 tens for | hundred.

=
1]

Understand how the addition relates to
counting on in |Os across 100.

NN\

——ttttttt+ttt—t——
184 190 200

/8L + 20 = P
[ can count in 10s ... |9% ... 20
18l + 20 = 204

Use number bonds within 20 to support
ef ficient mental calculations.

385 + 50

[here are 8 tens and 5 tens.
That is I3 tens.

385 + 50 = 300 + 130 + 5
385 + 50 = 435

3-digit number
+ 2-digit

number

Use place value equipment to make and
combine groups to model addition.

0.0

...

Use a place value grid to organise thinking

and adding of ls, then 10s.

Use the vertical column method. to
represent the addition. Children must
understand how this relates to place value
at each stage of the calculation.
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Use place value equipment to model addition
and understand where exchange is required.

Use place value counters to represent

Sk + /2.

Use this to decide if any exchange is required.

There are 5 tens and / tens. That is [2 tens
so | will exchange.

Represent the required exchange on a. place
value 9rLd. u.sLn.g equtpmen,t.

i

I

=
|

275 + 16 = 29/
Note: In this example, a mental method may
be more efficient. The numbers for the

Use a column method with exchange.
Children must understand how the method]
relates to place value at each stage of the
calculation.

+
N 22 N | T
- |-

+
03~
—|lo nn|O

QD — N
—|l oo nn|O

+
un‘z

275+ 16 = 29/
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example calculation have been chosen to allow
children to visualise the concept and see how
the method relates to place value.
Children should be encouraged at every stage
to select methods that are accurate and
efficient.
3-digit number | Use place value equipment to make a Represent the place value grid with equipment | Use a column method to solve efficiently,
+ 3-digit representation of a calculation. This may or to model the stages of column addition. using known bonds. Children must
number; no may not be structured in a place value grid. understand how this relates to place value
exchange at every stage of the calculation.
326 + Bl is represented as:
H 1 0
7 gﬂﬂﬂﬂ
ggag 311216
.~ n}
" | Banr
3-digit number | Use place value equipment to enact the Model the stages of column addition using Use column addition, ensuring
+ 3-digit exchange required. place value equipment on a place value grid. understanding of place value at every
number; stage of the calculation.
exchange
required
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¥ T 0 H T @ H T O
T | g
s 8 :;: geas % 2 l 7
L /3
JO= 2222500 B .
G680
E H T o
There are 13 ones. gg
= €D
I will exchange 10 ones for | ten. e g %—2
(n:mcm) + 2 7
H T 0 S
' (@)
edRaAR A 1] @ H T o
H T (0] +2)1 7
3 4 3
Eggg 126 + 217 = 343
Note: Children should also study examples

where exchange is requlred in more than
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Representing
addition
problems, and
selecting
appropriate

methods

Encourage children to use their own drawings
and choices of place value equipment to
represent problems with one or more steps.
These representations will help them to select
appropriate methods.

Children understand and create bar models to
represent addition problems.

275,99 7
374

{ I ]

[ 275 qq ]

275 .99 - 37

Use representations to support choices of
approprtafte methods.

[ 1
[ 275 aq |

| will add 100, then subtract | to find the
solution.
/28 + 105 + 83 =7

| need to add three numbers.

128 + 105 = 233
233
[ l' !
[ 128 | 105 | 83|
316
( — )
EEE 83 |
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Year 3
Subtraction
Subtracting Use known facts and unitising to subtract Use known facts and unitising to subtract Understand the link with counting back in
|00s multiples of 100. multiples of 100. |O0s.
L—2.2 0 I00 200 300 400 500
#0 = 200 = 200 400 — 200 = 200
Use known facts and unitising as efficieny
5_72.3 and accurate methods.
500 — 200 = 300 | know that /' — 4 = 3. Therefore, | know
that /00 — 400 = 300.
3-d'tg'tt number | Use number bonds to subtract the Is. Use number bonds to subtract the Is. Understand the link with counting back
—Is, no using a. number line.
excha.nge H T 0 Use known number bonds to calculate
= mentally.
, E E L76— b =
: T
m ]
9 (m

oy () (o)
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39 -4 =7 66— =2
b6 — b = /2
H T @)
E A
5 H g X
i on
H T
b —3 =1 | q
2l — 3 =2l 3
9d—4 =5
39— 4 = 3/5
3-d.i.gi.t number | Understand why an exchange is necessary by Represent the required exchange on a. place Calculate mentally by using known bonds.
— s, axcha.n.ge. exploring why | ten must be exchanged. value grid. /bl -6 =7
or bri.d,gi,n.g Use place value equipment. /bl —6 =7 bl —1—-5 =I5
required
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H T O
H i O
soao00
- 0-0.-8.9.§
=
3-d,i,gi,‘|: number | Subtract the 10s using known bonds. Subtract the 10s using known bonds. Use known bonds to subtract the 10s
— 10s, no mentally.
exchange H T 0 3/2-50=7
a /0 — 50 = 20

So, 3/2 =50 = 322

8 tens — | ten = / tens
38/ — 10 = 3/

38/ =10 =7

8 tens with | removed is / tens.

38/ =10 = 3/1
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3-digit number
— 10s, exchange
or bridging
required

Use equipment to understand the exchange of |

hundred for 10 tens.

N

| 0 1P T [ [ L) [ I |

EEEEEEEEEED
| 12 I I73) (20 s e [ I VO |

Represent the exchange on a place value grid

using equipmmt.

210 - 20 =7

H

/ need to exchange | hundred for 10 ftens, to

help subtract 2 fens.

H T 0
i
HERHHAEH
HEEHHEEHE
210 - 20 - 190

Understand the link with counting back on
a number line.

Use flexible partitioning to support the
calculation.

235 -60 =7

235 =100 + 130 + 5
235-60=100+ /0 +5
=175
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3-d,i,gi,‘t number | Use place value equipment to explore the effect | Represent the calculation on a place value Use column subtraction to calculate
— up to 3-digit | of splitting a whole into two parts, and grid. accurately and efficiently.
number understand the link with taking away. H T 0
auan masnn
dygidi H T O
q9 9 q
H T 0 =3 5 3
TEEETSTeTeLe TEELT)
Eaég 888 H T O
H T 0 2 o
TEELT) -3 3 &
no
" EEEE H T O
q 9 q
-3 5 2
6 4 7
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3-digit number | Use equipment to enact the exchange of | Model the required exchange on a place value | Use column subtraction to work accuratel
9 quip 9 q G P Y
— up to 3-d,'Lgi,t hundred for |0 tens, and | ten for 10 ones. grid. and efficiently.
number, 175 —38 =7
excha.nge, & A088Aa0 ! need to subtract 8 ones, so | will exchange a
required E ajujujulugn ten for 1O ones.
> AAAAAHAA D H T 0 HTO
afsfalalsfslsls s | X5
0886848 _ 3 8
B | 3 7
- 666606
B — 806000 |75 — 38 = |37
g H 0 i O
| ggggag R
OONNEN
EEEEN
I the subtraction is a 3-digit number
subtract a 2-digit number, children should]
H m O understand how the recording relates to
= soe60 the place value, and so how to line up the
= SONEN d, .
E Eggg ENENES igits correctly.
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Children should also understand how to
exchange in calculations where there is a

zero in the 10s column.

mm:
Me:-—l[
o o O

Representing
subtraction
problems

Use bar models to represent subtractions.
Find the dlffemnce' is represented, as two
bars for comparison..

I

Team A 454

Team B 128 ¢ ? ?

Bar models can also be used to show that a
part must be taken away from the whole.

Children use alternative representations to
check calculations and choose efficient

methods.

Children use inverse operations to check
additions and subtractions.

The part-whole model supports
understanding.

| have completed this subtraction.
5256 - 270 = 255
| will check using addition.
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O
0
S5
5

using objects

9
@Q

QQ

(I XX
CIXX)

362

This is 3 groups of &.
This is & groups of 3.

H T
Z
+ 2 5
5 2
!

Year 3
Multiplication
Understanding | Children continue to build understanding of Children recognise that arrays demonstrate Children understand the link between
equal grouping | equal groups and the relationship with repeated | commutativity. repeated addition and multiplication.
and repea,ted. addition. @
addition They recognise both examples and non-examples Hod 8 4 4 4 4 4

8 groups of 3 is 2k
3+3+3+3+3+3+3+3=24
Ex 3 =2
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Children recognise that Arrays Can be used to
model commutative mu ttpltcattons

i 3E JE I3
TR I I
FREFBEED

[ can see 3 groups of 8.
/ can see 8 groups of 3.

A bar model may represent multiplications
as equal groups.

Using
commutativity
to support
understanding
of the times-
tables

Understand how to use times-tables

Flexibly.

Facts

Understand how times-table facts relate to
commu.tat'wltg.

6x b =2k
bx 6 =2k

Understand how times-table facts relate tg
commutativity.

/ need to work out & groups of /.
[ know that / x L = 28

so, | know that

b groups of / = 28

and

/ groups of & = 28
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There are 6 groups of & pens.
There are & groups of © bread rolls.

[ can use 6 x b = 2L to work out both totals.

Understanding
and using X3,
x2, Xt and
x8 tables.

Children learn the times-tables as ‘groups of
but apply their knowledge of commutativity.

[ can use the x 3 table to work out how many

éeys.
| can also use the x3 table to work out how
many batteries.

Children understand how the x2, x4 and x8
tables are related through repeated doubling.

3X2=6

Children understand the relationship
between related mu[tlp['tcatton and division
Facts in known times-tables.

10
00000
;o 00000

2x5=/0
5x2-=/0
0+ 5=2
0+2=5
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jog 000 000

Make & groups of 3 tens.

(T T T
(Y [y T (D
(T Ty T (D

ifily

What is the same’
What is different?

& groups of 2 ones is 8 ones.
% groups of 2 tens is &8 fens.
bx2=28

L x 20 =80

Using known Explore the relationship between known times- Understand how unitising [Os supports Understand how to use known times-tables
Facts to tables and multiples of 10 using place value multiplying by multiples of 10. to multiply multiples of 10.

mul.‘l:i.plg IOs, equipment.

For example 3 Make & groups of 3 ones.

x 1O

+2 42  +2 42

(YYYY

| |
|

— t
0 | 3 4

oo +

—+—
5 6 7

N+

+20 +20 +20 +20

YYYY

| | | | | | | | |
| | | 1 | | I | |

0 10 20 30 40 50 60 70 80

Lx2-8
b x 20 - 80
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Multiplying a 2-
digit number by
a l-digit number

Understand how to link partitioning a 2-digit
number with multiplying.

Each person has 23 flowers.
Each person has 2 tens and 3 ones.

There are 3 groups of 2 tens.
There are 3 groups of 3 ones.

Use place value equipment to model the
multiplication context.

i @)
p =
N —
o =

There are 3 groups of 3 ones.

Use place value to support how partitioning is
linked with multiplying by a 2-digit number-.
Ix 2 =7

T @)
— soaa
—_—
-

Ix b= /2

T @)
sooo
soan
so00

Ix 20 = 60
60 + 12 =72
Ix 2 =72

Use addition to complete multiplications of
2-digit numbers by a |-digit number-.

b x[3=7
bx 3=/2
12 + L0 =52
b x [3 =52

b x [0 =40
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There are 3 groups of 2 tens.

Multi.ply’mg a 2- | Use place value equipment to model how 10 ones | Understand that multiplications may require Children may write calculations in

digit number by | are exchanged for a 10 in some multiplications. | an exchange of Is for 10s, and also 10s for expanded column form, but must
a |-d’Lgi.t Ix 2y =7 |OOs. understand the link with place value and
number, 3Ix 20 - 60 exchange.
expanded 3Ix b -2 b x 23=7 Children are encouraged to write the
column method expanded parts of the calculation
aEEAA A ﬂﬂ@ = ::::@ T O separaftelg.
Ejujuujnjn Al O A O L g [easasazanz] o g\
HOnadd 19g jujujuujuiie b oalo
s s s u s le I 0 T0
fHdady 99 dHeddd: e soa
EE I == | e R
- — mm | onemn |,
60 + 12 0 + 2 =N T o (T go066 S—
Ix - T0 42 — iiiaii] pooon | 00
Ix -2 S— OOED | 68000 )
sy
5x 28 =7
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b x 23-=97
i @)
00 | 000 38
28
%g OOO . 5
o0 ::: O
|00 5x%x 20
®E OOO 20
5x 23=7
5x3-1[5
5x 20 = 100
5x 23=1//5
Year 3
Division
Usin,g timetables | Use knowledge of known times-tables to Use knowledge of known times-tables to Use knowledge of known times-tables to
knowledge to calculate divisions. calculate divisions. calculate divisions.
divide [ need to work out 30 shared between 5.
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(G

2l divided into groups of 8.
There are 3 groups of 8.

. 0000 0000 0000 ©000

|
N
I

9]

0000 0000 0000 ©000

;@000 @000

48 divided into groups of
There are 12 groups.

b x [2 =48

L8+ 4 =2

[ know that 6 x 5 = 30 so | know that
30+ 5-=6

A bar model may represent the
relationship between sharing and grouping.

24
|

b+ -6

b+ 6 =1L

Children understand how division is
related to both repeated subtraction and
repeated addition.
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Facts to divide
multiples of 10

to divide by unitising.

32+ 8 =1Lk
Und.crsta.nding Use equipment to understand that a remainder | Use images to explain remainders. Understand that the remainder is what
remainders occurs when a set of objects cannot be divided cannot be shared equally from a set.
equally any further. ..... .
R, | 00000 O 22+ 5=7
i a0l 00000 sxs5.
00000 bx 5. 20
There are I3 sticks in total. 5x 5225 this is larger than 22
There are 3 groups of &, with | remainder- 22+ 5 = L remainder 7
So, 22 + 5 = b remainder 7
Using known Use place value equipment to understand how Divide multiples of 10 by unitising. Divide multiples of 10 by a single digit

using known times-tables.
180+ 3 =7

180 is I8 tens.

18 divided by 3 is 6.
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Make & ones divided by 3

(0 8)(@ 9) (o B)

Now make 6 tens divided by 3.

What is the same? What is dif ferent?

[2 tens shared into 3 equal groups.
i fens in each group.

18 tens divided by 3 is O tens.
8+ 3=06
/180 + 3 = 60

2-digit number
divided by |-
digit number, no
remainders

Children explore dividing 2-digit numbers by

using place value equipment.

Children exp[om which partitions support
particular divisions.

Children partition a number into |Os and
Is to divide where appropriate.
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(123 = 1 b i i i 8 6
(1 = 1 8
Lefmguyipiqnlejragalicy
CEETT T Iy

L+ 2=7

First divide the 10s.

(e==2)
(=)

QaQ
QQ

! need to partition 42 dif ferently to divide by

3
60606
L2 =30 + 2

60+ 2 =30

8+2-L

30 + b = 3k

68+ 2 =3k

Children partition flexibly to divide where

approprtate.

b2+ 3=7

b2 =40+ 2
| need to partition 42 differently to dividq
by 3

b2 =30 + 12
30+ 3 =10

2+ 3 =14
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Then divide the Is.

(DDDB)
Cﬂﬂﬂﬂ)

b2+ 3=/

0+ b - I
L2+ 3 b

2-digit number
divided by |-
digit number,
with remainders

Use place value equipment to understand the
concept of remainder-.

Make 29 from place value equipment.
Share it into 2 equal groups.

(ererrrm) CEEDL
)

There are two groups of Il and

| remainder-

Use p[ace value equipment to understand the
concept of remainder in division.

29+ 2=7
() CEEDL
=)

29+ 2 = I remainder |

Partition to divide, understanding the
remainder in context.

O/ children try to make 5 equal lines.
6/ =50 + 1/

50+ 5-=/0

1/ + 5 = 3 remainder 2

6/ + 5 = |3 remainder 7

[here are I3 children in each line and
2 children left out.
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Year L+

Year L
addition
Understanding | Use place value equipment to understand Represent numbers using place value counters | Understand partitioning of b-digit numbers,
numbers to the place value of b-digit numbers. once children understand the relationship including numbers with digits of O.
10,000 between |,000s and 100s. I
2000 + 500 + 4O + 2 = 2542 ‘al::>“==l"'lil’
J J J J
5000 + 60 + 8 = 5,068
b thousands equal & OO0 Understand and read L-digit numbers on a
[ thousand is 10 hundreds. number- line.
———+—+ l —+—+—
5010 5020
Choosing Use unitising and known facts to support Use unitising and known facts to support
mental mental calculations. mental calculations.
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methods where | Make /405 from place value equipment. Use unitising and known facts to support
appropriate Add 2 000. Th H T 0 mental calculations.
Now add the | 000s. L, 256 + 300 =7
[ thousand + 2 thousands = 3 thousands .... .. ®®® :.... 2+ 3=5200 + 300 = 500
Ly05 + 2000 = 3405 L, 256 + 300 = L, 556
[ can add the 100s mentally.
200 + 300 = 500
So, b, 256 + 300 = L, 556
Column Use place value equipment on a place value | Use place value equipment to model required | Use a column method to add, including
addition with grid to organise thinking. exchanges. exchanges.
exchange Ensure that children understand how the
columns relate to place value and what to
do if the numbers are not all L-digit
numbers.
Use equipment.to show 1,905 + //5.
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W[ T ] o
0 00000 00000
S
00000/0000000000
0 0

Why have only three columns been used
Sor the second row? Why is the
Thousands box empty’

Which columns will total 10 or more”

Th H T 0
@ 000000000000
EEEe |©6 0.00] E%'...UJ
@«
Th H T | O
® CLOO 000100,
EEEE |©® 0.00] s
O)
Th [ H ] T 0
@ (CEC0]0/00/0/0]
@eEe (@6 0.00] "
®
[ Th | H T 0
() CLOTCT000/00,
EEEe (06 000 .
®

T H TO)
i 5 5014
& 2 Bl
s
|
Th H(T)O
I 5|54
+ 4 21317
q |1
-
Th(HYT O
1|ls]5 4
+ 41218 7
)5
|
(MThYH T O
1|5 5 4
Ad4l2 5 9
(5)7 a |
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Include examples that exchange in more than
one column.

Include examp[es that exchange in more than
one column.

Representing
additions and

checking
stra.tzgie.s

Bar models may be used 1o represent additions
in problem contexts, and to Justhg mental
methods where appropriate.

ThH T 0
| 133 ] 749
G | T4
1373

[
[ chose to work out 5% + 800. then subtract

/
6,000
|

e 3000 |

This is equivalent to 3,000 + 3,000,

Use rou.ndmg and estimating on a number line
to check the reasonableness of an addition.

| | | | | | | | | | | |
I I 1 | I 1 I 1 I 1 | 1

10200 310 410 00 000 07 00 S0 e

a9z + 6,49 = 7

[ used rounding to work out that the answer
should be approximately 000 + 6,000 =
/,000
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Year L
Subtraction
Choos’m,g Use place value equipment to justify Use place value grids to support mental Use knowledge of place value and unitising to
mental mental methods. methods where appropriate. subtract mentally where appropriate.
methods where 350/ — 2000
appropriate i 3 thousands — 2 thousands = | thousand
Th { T 0 350/ - 2.000 = 150/
g | SO0 — L0 = 7606

What number will be left if we take away

3009
Column Understand why exchange of a 1,000 for | Represent place value equipment on a place Use column subtraction, with understanding of
subtraction I00s, a 100 for 10s, or a 10 for Is may be | value grid to subtract, including exchanges the place value of any exchange required.
with excha,nge necessary. where needed.
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00000
— 86660

Th

0/0/0/0/0

Th

7

-
COORN

Th

-
OOORY

Th

-
OEORN
L

Th H T [O
| 2 35140
4 210
\ 0 J
Th H(T) O
| 215]0
41210
gi; 0
Th HY T O
¥ ‘215 0
412 O
| 8)3 o
MARYH T O
¥1'2 5 0
4 2 0
[ J 8 3 o
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Column,
subtraction

with exchange

ACross more
than one
column

Understand why two exchanges may be

Make excha.nges across more than one column

necessary. where there is a zero as a place holder.
2502 - 243 =7 2502 — 243 =7
Th H T 0
=@ 000 (OO0000
OOOOE
Th H 1| 0
e (0000 (0000000000
: QOO0 00000
/ 8 .\o '.

need to exchange a [0 for some Is, but
there are not any 105 here.

000060
86660

Make exchanges across more than one column
where there is a zero as a place holder.
2502 — 23 =7
Th(H 0
2 |48 '0| 2
2 3

—

N O

\, V.

Th H(T O)
2 43(9'9'2

Th H T O
2 439'9'2
- 2 4 3
2 2 5 9
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Re,pre,se,n.tlng Use bar models to represent subtractions Use inverse operations o check subtractions.
subtractions where a part needs to be calculated. [ calculated 1225 — /799 = 5/%.
and checlt,i,n.g | will check by adding the parts.
stra.tzgie,s Total
5,762 hHTO
, . )
? t 574
- 289 | B
Yes votes No votes 13773
(.
[ can work out the total number of Yes votes | The parts do not add to make /,225.
using 5,/62 — 2,899. | must have made a mistake.
Bar models can also represent find the
difference” as a subtraction problem.
?
Danny [ 849 ]6—————9
Luis 1,005 )
Year L+
Multiplication
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Multiplying by | Use unitising and place value equipment to | Use unitising and place value equipment to Use known facts and understanding of place
multiples of 10 | understand how to multiply by multiples of | understand how to multiply by multiples of I, | value and commutativity to multiply mentally.
and 100 [, 10 and 100. IO and 100. bx =28
i ; b x /0 =280
m I
| ’ L x 700 = 2,800
il i (G
| anea s
i = e
[s}=]ais] e
Ix b= /2
3 groups of & ones is [2 ones. Ix L0 =120
3 groups of & fens is I2 tens. 3 x 400 = 200
3 groups of b hundreds is 12 hundreds.
Understanding | Understand the special cases of multiplying Represent the relationship between the x9 Understand how times-tables relate to counting
times-tables up | by | and O. table and the x10 table. patterns.
to 12 x 12 o Understand links between the
80 8 ® 8 ) 8 o 80 80 x3 table, X6 table and x4 table
ooleolloeleoleoelee 5x 6 isdouble 5 x 3
ololloolloolloolloollo/@] | *5 table and x6 table
oollololloolloolloollo ol |/twthat /x5 = 35 s0 | know that /' x 6
=35+7
x5 table and x7/ table
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Represent the x|l table and xI2 tables in
relation to the x|O table.

2% /=204 2
3x//-30+3
bx =40+ b

bx[2=40+8

3X5=3X5+3X2

(000
000
000

LOOO._

O
Q
©
1
X

3x7

x9 table and %10 table
6x /0 =60
6x 9-60-06

Understanding
and using
partitioning in
multiplication

Make multiplications by partitioning.
b x [2 is & groups of 10 and & groups of
2.

Understand how multiplication and
partitioning are related through addition.

Use partitioning to multiply 2-digit numbers by
a single digit.
[Ex 6=7
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bx[2=40+8

00000000 00000000
00000000 00000000
00000000 00000000
IOOOIPOOOO] lOOOOOOOOJ

| I |

4x3=2 4x5=20

4)(8:32

bx 3=/2
b x5=-20
12 + 20 = 32
b x 8=32

Bxb=l0x6+8x6

SR
=60 + &
= |08

[Ex 6=/10x6+8x 6
=60 + L8
= 108

Column
multiplication
for 2- and 3-
digit numbers
multiplied by a
single digit

Use p[ace value equipment to make
multlpltcations .

Make & x |36 using equipment.

- 000080

20000666

L JOOIOL 1 | | 1 |

Use place value equipment alongside a column
method for multiplication of up to 3-digit
numbers by a single digit.

000000 :
000000 -
00000

936

Use the formal column method for up to 3-
digit numbers multiplied by a single digit.

3 1 2
X 3
9 3 6
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[ can work out how many Is, 0s and /0.

There are & x 6 ones 2l ones
There are & x 3 tens |2 tens

There are i+ x | hundred % hundreds
b+ [20 + 00 = Bl

Understand how the expanded column method is
related to the formal column method and
understand how any exchanges are related to
place value at each stage of the calculation.

2

Ul | o WU Ui

Multiplying
more than two
numbers

Repmsent situations bg mul‘ELplgmg three
numbers together.

E

X

GREAT

nmﬂ
E

Each sheet has 2 x 5 stickers.
There are 3 sheels.

%
Z

4> N o
SSel SF.25 )

Understand that commutativity can be used
to mu.ltlp[g in different orders.

000000 000000 000000 000000
000000 000000 000000 000000
000000 000000 000000 000000 000000
000409 000000 000000 000000 000000

Z2x 6x [0=/20
12 x 10 = 120

Use knowledge of Factors to simplify some
multiplications.

x5 =/2x27x5
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There are 5 x 2 x 3 stickers in total.

5x2x3=30

l_I_J

10 x 3=30

0x 6x 2 =120
60 x 2 =120

I2x2x5=

L

|2 X |O = |20
S0, 24 x5 =120

Year L
Division
Understanding | Use objects to explore families of Represent divisions using an array. Understand families of related multiplication
the relationship | multiplication and division facts. and division facts.
between 0000000
multiplication ‘ ’ ‘ ‘ ‘ ‘  know that 5 x / = 35
anf.izlsion, "0"‘ (.‘..".j
including /k U th ts:
= 333883 sassite o
/x5 =35
0000000 . .~
Lx 6O 28:7=4 30 =7x5
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2l is 6 groups of L. 35+5=-/

2l is & groups of O. 35+ 7-5

2l divided by 6 is . 7-35+5

2l divided by & is 6. 5_35+7
Dividing Use place value equipment to understand Represent divisions using place value Use known facts to divide 10s and 100s by a
multiples of 10 | how to use unitising to divide. equipment. single digit.
and |00 by a i 1 9:3=(] 5+3=5

ingle digit - H /50 + 3 = 50
B | ] @.‘..‘. /500 + 3 = 500

wis-0]
J LB
|| 200+3=[ ]
I CIOIOCIOICICION,

8 ones divided into 2 equal groups

b ones in each group g+ 3=3
8 tens divided into 2 equal groups 9 tens divided by 3 is 3 tens.
b tens in each group 9 hundreds divided by 3 is 3 hundyreds.

8 hundreds divided into 2 equal groups
b hundreds in each group
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Dividing 2-
digit and 3-
digit numbers
by a single
digit by
partitioning
into 100s, 10s

and s

Partition into 10s and Is to divide where

appropriate.

39+ 3=7

39 = 30 +

3x10=30

9

30+ 3 =10

d9+3-=3

39+ 3 =13

A 3x3=q1

Partition into 100s, 10s and s using Base 10
equipment to divide where appropriate.

39+ 3=7

n F 2 F 3

000

660

——

0600

et et \e—

3 groups of | ten

3 groups of 3 ones

39-30+ 9
30+ 3=-10
9+3-3

39+ 3-1/3

Partition into 100s, 10s and Is using a part-
whole model to divide where appropriate.

W2+ 2=7

|00+2=D 40+2=[:] 6+2=D

100+ 2 = 50

LO + 2 =20
6+2-=3
50+20+ 3 =73
W2 +2 =73

53 |Page




CALULATION POLICY 2023

Dividing 2-
digit and 3-
digit numbers
by a single
digit, using
Flexible
partitioning

Use place value equipment to explore why

dif ferent partitions are needed.

L+ 3=7

[ will split it into 30 and 12, so that | can

divide by 3 more easily.

ERSEEEEEEA

DE@REERE N

00

Represent how to partition flexibly where

needed.

e+ /=7

/ will partition into /O and I+ because | am

dividing by /.

@ 0000000000
0000000000
0000000000
0000000000
0000000000

N:1:0 k:1:2 0000000000
0000000000

8s7=12

Make decisions about appropriate partitioning
based on the division required.

N+1=3% TN:3=0 TN:4=8 1N:6:=1
Understand that different partitions can be
used to complete the same division.
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60+3=20 60+3=2012:3=4
132 +3=44

20:3=40 12:3=4

30+3=1030+3=1030+3=1030+3=10 2+3=4
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Understanding

remainders

Use place value equipment to find
remainders.

85 shared into & equal groups
There are 2k, and | that cannot be

shared.
G

>
-
>
-~
»

| (0 F21 I 1N R D (T R
|IEEEEEEEEEE]
| B = = A ) = I O
EEEEEEELET-1=1-1 0

-
®
—
-
~
-
—
-

Represent the remainder as the part that
cannot be shared equally.

0000000000 0000 @
0000000000 0000 @
0000000000 0000
0000000000 0000
0000000000 0000

/2 + 5 = Ik remainder 7

Understand how partitioning can reveal
remainders of divisions.

80+ & = 20
2+ =3
95 + b = 23 remainder 3
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| S5 — Progression in Fract

ObJ'ectLve |- Count up and down in tenths:; recognise that tenths arise from dLdemg an object into 1O equa[ parts and in dLdeLng one—dLth numbers or quantities bg 0.

Objective 2: Recognise, find and write fractions of a discrete set of objects: unit fractions and non-unit fractions with small denominators.
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18 18
6 I 6 | 6 3|3|3}3|3|3
18
. . 6x3=18 18:6=3  lof18=3
‘ (" 6 h 6 3x6=18 18:3=6 ;of18=6
h‘——-—-"
®0g
7 2
—of 18 =12
® 3
of o0\,
... 9
30
1
Find £ of 8l Te [ 6ds |6 |6
4 N—]
..' ..‘ ..' ..‘ §0f30=12

Okﬂecﬁve 3: Recogmse and show, using diagrams, equ,Lva[mT fractions with small denominators.

Show quarters
and eighths x2
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9 x5
== x2
12 Y o :?
LELLEET [ e i 3_15 e
ARRRNNNNNNRREERR E;}Tn 6% 519
x5 x?

(Gl alalalalalala]s]

Objective lr: Add and Subtract fractions with the same denominator within one whole.
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4773 LTI
- ===
7 7 7
Write three fraction equations for this
model.
6 3 3
10 10 10 True or false?
' Answer 5 2 7
3 4 —t-=—
—y—= 6 6 12
| 8 8
1 13 3 1
1 3 4 N EE S 2. 20 20 2
-+ —=-=- 8 ] 8 8 8 8 8 8 7 7
4 4 4
3 2
8 8
0 1 2 3 4 5 & 1 1
8 8 8 8 8 8 8
3,2_5 5.2_3
R CRCRE
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ObJectLve oF Compare and order unit fmctLons, and fractLons with the same denominators.

What fractions could you
write for the start and finish
of the number line?

BN

-
NI

B

]
sl

w
alw

Put <, > or = in the
circle to make this
statements true.

6 2

7 7
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Yl Concrete

Yl Pictorial Yl Abstract

w | 0 1 2 3 4 5 6 7 8 9 10
' i1 2 5 N — ——+—
B T
01 0.2 03 - 100 ? 1‘0 2}0 3{0 4{0 5‘0 6}0 7‘0 s‘o 9}0 1?0
0.01 0.02 0.03 /u 9 190 200 300 400 5?0 6([)0 7?0 8?0 900 1000
[

Objective 3: Add and subtract fractions with the same denominator.
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o
|
~l

7 4 z+§7
5 5 8 8
—_——
D o [T I B R T N %% P
5 5 5 5 5 5 5 5 5 5 5 8
1
= 5
5 3 _Z_
l+ﬂ:ﬂ 6
5 5 5§
5 2 10 r,an
—==— 5 5 5
[O 6 37235 | oo
hese statements are
@OO®® 8 B e
1 1 2 7%4—%:8%
)
1 4 2
5

(4]
o

Ob jective - Recognise and write decimal equivalents of any number of tenths or hundredths.

0 0.5 1
} i t
0 1 2
2 2
Unit fraction Decimal fraction il
1 0.1=—
3 05 10
. 0 0.25 05 0.75 1
2 oz { : f % ;
1 02 0 1 2 3 4
: = 0.03 = —— a 7 2 )
0 - 100
1 25
7705 - 0-25
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Ob jective 5:

whole number

Solve prob[ems mvo[v'mg anreasmgtg harder fractLons to calculate quantities, and fmctLons to divide quantities, Lndudmg non-unit JcractLons where the answer is a

200

40| 40|40 |40 | 40 -

450
2 of 200 =120

Judy and Tilly each have a 1m ribbon. Judy cuts her ribbg
equal parts and uses 1 of them to make a hair tie. Tilly cu
ribbon into 10 equal parts and uses 3 of them to make a

Have Judy and Tilly used the same amount of ribbon? Ex
answer.

| Write an equation Petrol cans hold 2 litres.
|'| for this model

Tong uses Z of a 2 litre can of petrol in his lawn mower-
|

He then uses 1 of another can with ° remaining of the 2
18|18 [ 18| 18]18] 18| 18| 18] 2 8
l60

60 60|60 6060

2 of 360 = 240

litres.
How much petrol did he use altogether?
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Standard Written Method
Reception
,+5= ,+6= 0000000000 "
3-1=[] 2-1=[_] ‘l‘;‘;‘||||||||||
8-1=[] 4-1=["] 012 4569123456?3:,@
@ TITY
W “,y"lr,mwh 7“4 :
Year | | _
/0\/0\/\/\/\ R ENSF AR RN ts')dgm mmm
| l -6 0 0] |
{ l i?’m : N B @ @ | %ﬁ@
i D1 23 45 67 89
g 5 TIVINS  |dgs de dgn
-
® ||®
® O |®
Q @ @ @
el rlbot wnlvves
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Yar2 | 50 57'3 8x5 =40 35+5=7
143+
_49-
102
24
Year 31 523 523 5
_ 6x
393+ 393- 54 (6x9) 2
8 )32
916 130 300 (6x50)
354
Year L ’ 6,12173 159
16x954
3,094+ 1.093- —> 135
1,590+ 7 )945
4,406 5,180 > ea4
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Year 5 - 2259
13,123 62,743 N
%O,943+ 10.923- 54 279r5
- 300 6 )1679
44,066 51,820 o0
12,000+
13,554
Year 6 2259 D389 739
613,123 6112,1743 o0 13552 >3[8964
Eﬁ?j
1310,943+ 100,923- 511,820 201360+ = 206
103,914 59 184
JoE 0224
744,066 133 Sor.
184 O170
207 "I 5"' —
o090
&9 —
210
2077 -
Q03
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